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ELASTICITY OF DEMAND

1. When price is ¥ per unit, demand for a commodity is 100

units. As the price falls to ¥ 8 per unit , demand expands to

150 units. Calculate elasticicty of demands.

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_lyyiLCj3AbTR

2. when price of sugar is ¥ 5 per Kg, its demand is 50 Kg.
when price rises by ¥ 5 per kg, its demand falls by 10 Kg.

Calculate the elasticity of demand.

° Watch Video Solution

3. The demand for a good falls to 240 units is respone to rise
in price by ¥ 2. if the original demand was 300 units at the

price of ¥ 20, calculate price elasticity of demand.

° Watch Video Solution

4.The market demand for a good at ¥ 4 per unit is 100 units.
Due to increase in price, the market demand falls to 75 units.

Find out the new price, elasticity of demand is (-)1.


https://dl.doubtnut.com/l/_MXLMTFvqBOYd
https://dl.doubtnut.com/l/_qRG1aRjHfhMk
https://dl.doubtnut.com/l/_Sho6Sf8VEb9B

o Watch Video Solution

5. When the price of good X is ¥ 5, the consumer buys 100
units of good X. At what price would he willing to purchase
140 units of good X ? The price elasticity of demand for good

Xis 2.

o Watch Video Solution

6. A consumer buys 80 units ofa good at a price of ¥5 per
units. Suppose, the price elasticity of demand is (-)2. At what

price will he buy 64 units ?

° Watch Video Solution



https://dl.doubtnut.com/l/_Sho6Sf8VEb9B
https://dl.doubtnut.com/l/_ahvyVnS9k8WR
https://dl.doubtnut.com/l/_azJIGmX1zh0T
https://dl.doubtnut.com/l/_0rU0Spg3tDUL

7. The demand for a good al ¥ 10 per units is 40 units. Price
falls by ¥ 5. if price elasticity of demand is (-)3, calculate the

new quantity demanded.

° Watch Video Solution

8. Price elasticity of demand for a product is 'unity. A
houseshold buys 25 units of this product at the price of ¥ 5
per unit. If the price of product rises by ¥ 1, how much

quantity of the product will the household buy ?

o Watch Video Solution

9. When the price of a commodity falls by ¥ 2 per unit , its

quantity demanded increases by 10 units . Its price elasticity


https://dl.doubtnut.com/l/_0rU0Spg3tDUL
https://dl.doubtnut.com/l/_y2Ge8J1sOvza
https://dl.doubtnut.com/l/_6IjMtqo2b7uZ

of demand is (-) 1. Calculate its demanded at the price before

change was % 10 per unit.

° Watch Video Solution

10. The initial demand for a commodity is 80 units, the
demand falls by 4 units due to rise in price by ¥ 10 . If price
elasticity of demand is 1.5 calculate the price before change

in demand.

o Watch Video Solution

11. When price of a commodity falls by 80 % , the quantity
demanded of it increases by 100 %. Find out its price

elasticity of demand.

Y.


https://dl.doubtnut.com/l/_6IjMtqo2b7uZ
https://dl.doubtnut.com/l/_HNdJqaQKyWjA
https://dl.doubtnut.com/l/_D033DaqcCHqY

| ¥ Watch Video solution |

12. when pirce of a commodity gets doubled, its quantity
demanded reduced to half . Calculate the coefficient of price

elasticirty of demand .

° Watch Video Solution

13. A5 % fall in the price of x leads to 10 % rise in the demand
for x . A 20 % rise in the price of y leads to 6 % fall in the
demand for y. Calculate the price elasticities of demand of x

and y. out of x and y, which commondity is more elastic ?

o Watch Video Solution



https://dl.doubtnut.com/l/_D033DaqcCHqY
https://dl.doubtnut.com/l/_PQTXTcuY7kk3
https://dl.doubtnut.com/l/_xtouyQDLprvc

14. A consumer buys 20 units of a good at ¥ 10 per unit.
When its price falls by 10%, its demand rises to 22 units. Find

out the price elasticity of demand.

o Watch Video Solution

15. The qunantity demanded of a commodity at a price of ¥ 8
per unit is 600 units. Its price falls by 25 per cent and the
quantity demanded rises by 120 units. Calculate the price
elasticity of demand . Is its demand elastic ? Give reason for

your answetr.

° Watch Video Solution



https://dl.doubtnut.com/l/_kedqAyr6DJ6x
https://dl.doubtnut.com/l/_jTGiPC6bymjD

16. Calculate the price elasticity of demand for a commodity
when its price increase by 25% and quantity demanded falls

from 150 units to units.

o Watch Video Solution

17. The price of commodity is ¥ 15 per unit and its quantity
demanded is 500 units. Its quantity demanded rises by 80
units as a result of fall in its price by 20 per cent. Calculate its
price elasticity of demand. Is its demand inelastic ? Give

reason for your answetr.

° Watch Video Solution



https://dl.doubtnut.com/l/_hzVMAxq4fjrt
https://dl.doubtnut.com/l/_nQXjJtQIA9Hm

18. When the price of a commodity is ¥ 20 per unit, its
quantity demanded units. When its price rises by ¥ 5 per unit,
its quantity demanded falls by 20 per cent. Calculate its price
elasticity of demand. Is its demand elastic? Give reasons for

answer.

° Watch Video Solution

19. when price of a good falls from ¥ 5 to ¥ 3 per unit, its
demand rises by 40 % . Calculate its price elasticity of

demand.

° Watch Video Solution



https://dl.doubtnut.com/l/_R2Wkwxp1svif
https://dl.doubtnut.com/l/_cMLfkMmBor1Y

20. Calculate price elasticity of demand:

| Price () Total Expenditure @) |
| 5 500
! ‘ 6 420

o Watch Video Solution

21. A consumer spends ¥ 80 on a commondity when its price
is ¥ 1 per unit and spends ¥ 96 when its price is ¥ 2 per unit.
Calculate price elasticity of demand for the commodity by the

percentage method ?

° Watch Video Solution

22. A dentist was Charging ¥ 300 for a standard cleaning job

and it used to generate total revenue equal to ¥ 30,000 per


https://dl.doubtnut.com/l/_XrcUJSkULk08
https://dl.doubtnut.com/l/_VweLwbHXpPxs
https://dl.doubtnut.com/l/_godpy1imSfab

month. She has , since las month , increased the price of
dental cleaning to ¥ 350. As a result, fewer customers are
now coming for dental cleaning, but the total revenue is now
¥ 33,250 .from this, what can we conclude about the elasticity

of demand for her dental service ?

o Watch Video Solution

23. With rise in price from ¥ 8 to ¥ 14 , total expenditure on
the commodity rises by 40% and becomes ¥1,120. Calculate
price elasticity of demand. Also, indicate whether demand.

Also, indicate whether demand is elastic or inelastic.

° Watch Video Solution



https://dl.doubtnut.com/l/_godpy1imSfab
https://dl.doubtnut.com/l/_ALNP7lCvGDlC

24.The price elasticity of demand for good X is knownto be
twice that of good Y. Price of X falls by 5 % while of good Y
rises by 5% . What is the percentage change in the quantities

demanded of X and Y ?

° Watch Video Solution

25. The price elasticities of demand for goods X and Y are
known to be 1 and 2 respectively. Price of X rises by 5% while
that of good Y falls by 5%. What are the percentage changes

in the quantities demanded of X and Y ?

° Watch Video Solution



https://dl.doubtnut.com/l/_wMj8sc9hvL1I
https://dl.doubtnut.com/l/_Wn0JrhOs4u5w

26. The demand for goods X and Y have equal price elasticity.
The demand of X rises from 100 units to 250 units due to a
20 per cent fall in its price. Calcualte the percentage rise in

demand of Y, if its price falls by 8 per cent.

° Watch Video Solution

27. The price elasticity of demand of good X is half the price
elasticity of demand of good Y. A 25% rise in the price of
good Y reduces its demand from 400 units to 300 units.
Calculate percentage rise in demand of good X when its price

falls from ¥ 10 to ¥ 8 per unit.

o View Text Solution



https://dl.doubtnut.com/l/_hwAUhSFwwnBd
https://dl.doubtnut.com/l/_RQcthljpMdtb

28. The Percentage change in demand is three times the
percentage change in price. If original demand was 30 units
at the price of ¥ 7 per unit, then calculate the price elasticity
of demand, given price increased by 10% . Indicate whether
the demand is elastic or not. Also calculate the new quantity

demanded.

° Watch Video Solution

29. In case of commodity 'B' the ratio of change in pirce
(AP) to original price (P) is (-) 0.4. if price elasticitly of
demand is (-) 0.5, calculate the percentage change in quantity

demanded.

o Watch Video Solution



https://dl.doubtnut.com/l/_rjWpSyn6Gjsd
https://dl.doubtnut.com/l/_HIRo01wM4AKw

30. If ratio of Change in quantity (AQ) to original quantity Q
is 0.5 and elasticity of demand is (-) 1.25, calculate the

percentage change in price.

° Watch Video Solution

A
31 If —Q = — 0.6 and price elasticity is () 0.75, calculate

the percetage change in priceAlso Calculate the new
expenditure if initital expenditure was ¥500 at the price of

320.

o Watch Video Solution

32. The demand funcation of Commodity X' is given as :

Q. = 20 — 2P,. Calculate its price elasticity of demand when


https://dl.doubtnut.com/l/_z1kSE7eivrk5
https://dl.doubtnut.com/l/_e9P0Z5Xz7aNH
https://dl.doubtnut.com/l/_CyYgxzqX3xqX

price falls from ¥ 5 to 33.

° Watch Video Solution

33. The demand for commodity 'A' rises by 20% due to fall in
proce by ¥ 2 form the original price of ¥8.

(i) Calculate elasticity of demand by 'Percentage Method'.

(i) Whether demand of ‘A is elastic or inelastic ? Give reason
for your answer.

(iii) What will be the shape of demand curve of A?

(iv) If new demand of Commodity 'A' is 84 units , then

calculate its original demand.

° Watch Video Solution



https://dl.doubtnut.com/l/_CyYgxzqX3xqX
https://dl.doubtnut.com/l/_u7Tv1BdNECBP

34.If the price of X is ¥ 2 and the elasticity of demand is 04 ,
how much will a 10 percent reduction in quantity demanded
increase the price ? If the new quantity demanded is 9 units,

will the total spending on X rise ? If so, by what percentage ?

° Watch Video Solution

35. when price of a good is ¥ 7 per unit, a consumer buys 12
units. When price falls to ¥ 6 per unit, he spends ¥ 72 on the
good. Calculate price elasticity of demand by using the
percentage method. Comment on the likely shape of demand

curve based on this measure of elasticity.

o Watch Video Solution



https://dl.doubtnut.com/l/_siKjqiesRpc5
https://dl.doubtnut.com/l/_jbLxpZ71GnKn

36. The demand curve for the commondity is given as
D, = 20 — 2P. If slope of the demand curve is (-2), calculate
price elasticity of demand for the commodity when the price

of the commodity is ¥5 per unit.

o Watch Video Solution

37. The demand curve of a commodity is expressed as
D, = 40 — 5P . If slope of the demand curve is given to be
(-2) , calculate price elasticity of demand for the commodity

when demand is 20 units.

° Watch Video Solution



https://dl.doubtnut.com/l/_85oY2VPmaReP
https://dl.doubtnut.com/l/_CPmZFTH9pmKI

1. Price elasticity of demand for flowers and toys are
respectively (-) 0.9 and (-) 0.5. Demand for which one is more

elastic and why ?

o View Text Solution

2. Differentiate between law of demand and price elasticity of

demand.

° View Text Solution

3. What is the price elasticity of dmeand for following
demand curves, : (i) Straight line demand curve parallel to X -

axis, (ii) Straight line demand curve parallel to Y-axis.

| o Ve msar ok Ol ikt


https://dl.doubtnut.com/l/_HUnBg5hh4kVQ
https://dl.doubtnut.com/l/_nf2gsKOHmuhX
https://dl.doubtnut.com/l/_Ena81MYiWBNS
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4. State with reasons , whether the following items will have
elastic or inelastic demand: (i) Matchbox, (ii) coke , (iii)
medicines, (iv) NCERT Textbook, (v) Electricity, (vi) Cigarettes,

(vii) Butter for a poor person .

° View Text Solution

True And False

1. When quantity demanded of a commodity does not change

with change in price. Then coefficient o price elasticity of

demand is zero.

o View Text Solution



https://dl.doubtnut.com/l/_Ena81MYiWBNS
https://dl.doubtnut.com/l/_JokBRTrvaSet
https://dl.doubtnut.com/l/_GanlCnedc0X4

2. A commondity with large number of close subtitutes

shows high elasticity of demand.

° View Text Solution

3.When the percetage increase in demand of a commodity is
more than percentage increase in price, then demand cruve

is steeper.

o View Text Solution

4. In case of horizontal straight line demand curve, demand

does not change ecen with cahnge in price.

° View Text Solution



https://dl.doubtnut.com/l/_GanlCnedc0X4
https://dl.doubtnut.com/l/_G6eq3EYB6YUo
https://dl.doubtnut.com/l/_1GFUP2v1VVL2
https://dl.doubtnut.com/l/_UA6RpbkzsiM4

5. A flatter demand curve is more elastic than a steeper

demand curve at the point of intersection.

o View Text Solution

6. In case of perfectly inelastic demand , expenditure on the

commodity does not change with change in its price.

° View Text Solution

7.if the proportionate change in the price of a commodity is
more than the proportionate change in its quantity demand
per unit of time , its pirce elastictiy demand is greater than

unity.


https://dl.doubtnut.com/l/_UA6RpbkzsiM4
https://dl.doubtnut.com/l/_7XEHE7JZjlXw
https://dl.doubtnut.com/l/_HXH0n9ydu22X
https://dl.doubtnut.com/l/_0Un70tydJ8Ew

° View Text Solution

8. In measuring price elasticity, price is a dependent variable

and quantity is an independent variable

° View Text Solution

9. The coefficient of price elasticity of demand is generally
negative. However, minus sign is ignored for the sake of

convenience.

o View Text Solution



https://dl.doubtnut.com/l/_0Un70tydJ8Ew
https://dl.doubtnut.com/l/_G9Vqy2ey6Clt
https://dl.doubtnut.com/l/_YgyN4tus2Id7

10. Commodity with diverse uses has generally less elastic

demand.

o View Text Solution

11. Demand is more elastic in the long period than in the

short period.

° View Text Solution

12. Price Elasticity of Demand of two goods A and B is (-) 3

and (-) 4 respectively. Good A has higer elasticity.

o View Text Solution



https://dl.doubtnut.com/l/_WRtZamaFrmf6
https://dl.doubtnut.com/l/_x91rALwrWGjk
https://dl.doubtnut.com/l/_zbh9QgYkP4QS
https://dl.doubtnut.com/l/_x5Nt2YFdYX8b

13. Price Elasticity of Demand is infinty in case of horizontal

straight line demand curve.

° View Text Solution

14. Price Elasticity fo Demand is same for the two
commoditites x and y if slope of their demand curves are

same.

o View Text Solution

15. price Ealsticity of Demand is zero if with 20% increase in

expenditure on the commodity, also rises by 20%.

° View Text Solution



https://dl.doubtnut.com/l/_x5Nt2YFdYX8b
https://dl.doubtnut.com/l/_aqHCJdBt8A45
https://dl.doubtnut.com/l/_koHkJZ0BGUKJ

1. Explain price elasticity of demand

° View Text Solution

2. Consider the demand for a good . At price ¥ 4 , the demand
for the good is 25 units . Suppose price of the good increases
to ¥5 and as a result, the demand for the good falls to 20

units. Calculate the price elasticty.

° View Text Solution

3. Suppose the price elasticity of demand for a good is -0.2 if

there is a 5% increase in the price of the good, by what


https://dl.doubtnut.com/l/_XiLLTVqm9Uq7
https://dl.doubtnut.com/l/_FctUpmsqR5wc
https://dl.doubtnut.com/l/_7a1Hhs844y9G

percentage will the demand for the good go dowm ?

o View Text Solution

Revision Exercise

1. If there is no change in demand for commodity 'X

even

after rise in its price, then it demand is:

A. Perfectly Elastic

B. Pecfectly Inelastic

C. Less Elastic

D. Highly Elastic

Answer: b



https://dl.doubtnut.com/l/_7a1Hhs844y9G
https://dl.doubtnut.com/l/_q5vVXRzcmT2v
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2. The elasticity of demand for a product will not be higher:

A. when it is considered a necessity by its buyers.

B. When more subsitutes for the product are available.

C. When it has several uses.

D. When it is an expensive commodity.

Answer: a

o View Text Solution

3. Demand for a good is less elastic when :


https://dl.doubtnut.com/l/_q5vVXRzcmT2v
https://dl.doubtnut.com/l/_0QEgQpEwwpG3
https://dl.doubtnut.com/l/_Mbk32CzVfroE

A. Percentage change in price > percentage change in

quantity demanded.

B. Percentage Change in quantity demanded >

percentage change in price

C. percentage change in price = percentage change in

quantity demanded

D. Demand remains same even with change in price.

Answer: a

o View Text Solution

4. which of the following will have elastic demand ?

A. Matchbox


https://dl.doubtnut.com/l/_Mbk32CzVfroE
https://dl.doubtnut.com/l/_kLb71losTEO7

B. NCERT textbooks

C. Medicines

D. Air conditioners.

Answer: d

° View Text Solution

5. If the price elasticity of demand for a commodity is less

than unity, a decrease in price would result in

A. Proportionately less in the quantity demanded.

B. Prooportionately more inceases in the quantity

demanded.

C. Increases in total expenditure on the product.


https://dl.doubtnut.com/l/_kLb71losTEO7
https://dl.doubtnut.com/l/_IwtslZw1FhDR

D. none of these.

Answer: a

o View Text Solution

6. Which one of the following statements is incorrect:

A.Higher numerical value of elasticity indicates larger

effect of a price change on the quantity demanded.

B. Elasticirty of demand can vary only between -1 and +1.

C.The demand curves for all commodities which have

unitary elastic demand will be rectangular hyperbola.

D. Elasticity of demand establishes a quantitative

relationship between quantity demanded of a


https://dl.doubtnut.com/l/_IwtslZw1FhDR
https://dl.doubtnut.com/l/_0KVgQF0bmIbu

commodity and its price. While other factors remain

constant.

Answer: b

° View Text Solution

7.the following diagram represents

for commodity X.

elastic demand


https://dl.doubtnut.com/l/_0KVgQF0bmIbu
https://dl.doubtnut.com/l/_uZmpKJr1lzqw

» <

Price (InX)

D

d - X

Demand (in units)

A. Less

B. Highly

C. Unitary

D. Perfectly

Answer: b



https://dl.doubtnut.com/l/_uZmpKJr1lzqw

| ° View Text Solution

8. If the percentage increase in the quantity demanded of a
commodity is less than the percentage fall in its price, then

elasticity of demand is:

Answer: ¢

o View Text Solution



https://dl.doubtnut.com/l/_uZmpKJr1lzqw
https://dl.doubtnut.com/l/_OMEZcso9DqY7

9. Price elasticity of demand is best defined as :

A. Change in the tastes of cpmsi,ers at doffermet prices.

B.Change in demand when income of the consumer
increases.

C.The rate of response of demand toa change in pirce.

D. The rate of response of demand to change in pirce of

related goods.

Answer: ¢

° View Text Solution



https://dl.doubtnut.com/l/_1lLCVChSuyFh

10. which of the following influence price elasticity of demand
?

A. Nature of the commodity

B. Income Level

C. Availability of subsitutes

D. All the these.

Answer: d

° View Text Solution

1. A negative sign with coefficient of price elasticity of

demaned denotes.


https://dl.doubtnut.com/l/_uypwm59teWJv
https://dl.doubtnut.com/l/_nrWIjpG1tS2H

A. Direct relation between price and quantity dmeanded

B. Inverse relation between price and quantity demanded

C. No relation between price and quantity demanded.

D. none of these.

Answer: b

o View Text Solution

12. A 5% fall in the price of X leads to a 10% rise in its
demand. In case of GoodY , a2% rise in price leads to a 6% fall
in its demand. In the given case, _is more elastic.

A X

B.Y


https://dl.doubtnut.com/l/_nrWIjpG1tS2H
https://dl.doubtnut.com/l/_xeTcCMmQJb1B

C.Both X and Y are equally elastic

D.Both X and Y are inelastic

Answer: b

o View Text Solution

13. In case of there is an infinite demand at a

patticular price and demand becomes zero with a slight rise

in price.

A. Perfectly inelastic demand

B. Highly elastic demand

C. less elastic demand

D. Perfectly elastic demand.


https://dl.doubtnut.com/l/_xeTcCMmQJb1B
https://dl.doubtnut.com/l/_2vGVSNWBsuv2

Answer: d

o View Text Solution

14. if a good takes up significant share of consumers' budget,

it will be

A. Less elastic

B. Highly elastic

C. Unitary elastic

D. perfectly elastic

Answer: b

° View Text Solution



https://dl.doubtnut.com/l/_2vGVSNWBsuv2
https://dl.doubtnut.com/l/_apDSoRyPTdxn
https://dl.doubtnut.com/l/_TD4q2BpbYKyU

15.If there is no change in quantity demanded to any charge

in price, then demand is _and demand curve is a

A. perfectly elastic, horizontal straight line

B. perfectly elastic, vertical straight line

C. perfectly inelastic , horizontal straight line.

D. perfectly inelastic , horizontal straight line

Answer: d

o View Text Solution

16. If the demand for a good is made by a rich consumer , its

demand is generally.


https://dl.doubtnut.com/l/_TD4q2BpbYKyU
https://dl.doubtnut.com/l/_FGwvUoYNGWL7

A. Less elastic

B. Highly elastic

C. Unitary elastic

D. Perfectly elastic

Answer: a

o View Text Solution

17. A firm is currently selling 10,000 units of its product per
month. The firm plans to reduce the retaill price from3 1to ¥
0.90 . From the previous experience, the film known that the
price elasticity of demand for the product is (-) 1.5. Assuming

no other changes, the firm can now expect the sales of :


https://dl.doubtnut.com/l/_FGwvUoYNGWL7
https://dl.doubtnut.com/l/_yzo5lvqwmPXS

A. 8,500 units

B. 10,500 units

C. 11,000 units

D. 11,500 units

Answer: d

o View Text Solution

18. the demand for meals at a medium- priced restaurant is
elastic. If the management of the restaurant is considering
raising prices, it can expect a relatively:

A. proportionately large fallin quantity demanded

B. No change in quantity demanded


https://dl.doubtnut.com/l/_yzo5lvqwmPXS
https://dl.doubtnut.com/l/_S8Nnm9b5VD5N

C. Proportionately small fall in quantity demanded

D. infinite change in quantity demanded

Answer: a

° View Text Solution

19. With incease in price of burgers by 22% , its deamand falls

by 25%. This indicates that demand for burgers is:

A. Elastic

B. Inelastic

C. Unitary elastic

D. Perfectly elastic


https://dl.doubtnut.com/l/_S8Nnm9b5VD5N
https://dl.doubtnut.com/l/_QSTKQrm2jokO

Answer: a

o View Text Solution

20. Which of the following diagram correctly depicts the

situation of Less Demand ?
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Answer: ¢
° View Text Solution

21. Among the following demand curves, which one is more

elastic ?



https://dl.doubtnut.com/l/_l7g7LdmGBHDS
https://dl.doubtnut.com/l/_xVA7aZaqmU6V

ol Price (in ?), |

(in units)

A F

B.E

C.G

D.H

Answer: b

o View Text Solution



https://dl.doubtnut.com/l/_xVA7aZaqmU6V
https://dl.doubtnut.com/l/_NDA0gY1fcgFy

22. If a commodity has large number of subsitutes, then its

demand curve will be:

Y

-

hYe

X

o Price (in %)

Quantity demanded
(in units)

AP

B.Q

C.bothaandb

D. Neither a nor b


https://dl.doubtnut.com/l/_NDA0gY1fcgFy

Answer: a

° View Text Solution

23. Price Elasticity of Demand of a good is (-) 3 it shows that:

A. When price falls by 1% demand rises by 3%

B. when price rises by 1% demand its falls by 3%

C.Eitheraorb

D. Neither a nor b

Answer: c

o View Text Solution



https://dl.doubtnut.com/l/_NDA0gY1fcgFy
https://dl.doubtnut.com/l/_DJ1rLITZ7B9s

24. The Indian Government imposed heavy taxes on

commodity to reduce its consumption by the pubic such

heavy taxes will decrease the deamand of the commodity

only when:

AE;=0

B.E; > 1

CE;<1

D.E; =1

Answer: b

o View Text Solution

Very Short Answer Type Questions



https://dl.doubtnut.com/l/_HPPvel4jufi9
https://dl.doubtnut.com/l/_3xNbKic0Axqw

1. Define price elaticity of demand

o View Text Solution

2. Why is price elasticity of demand generally negative ?

o View Text Solution

3. Give the formula for measuring price is generally price

elasticity of demand according to percentage method.

o View Text Solution



https://dl.doubtnut.com/l/_3xNbKic0Axqw
https://dl.doubtnut.com/l/_7qyHSfUY8GPw
https://dl.doubtnut.com/l/_Anlo3xA0NI8x

4. How is price elasticty related to a horizontal straight line

demand curve ?

o View Text Solution

5. How is price elasticty related to a vertical straight line

demand curve ?

° View Text Solution

6. Demand for product X is perfectly inelastic. What will be
the change in demand if price falls from ¥ 10 per unit to 5

per unit ?

° View Text Solution



https://dl.doubtnut.com/l/_yd7xkZ9BypCz
https://dl.doubtnut.com/l/_7M5def7BUPoD
https://dl.doubtnut.com/l/_W9tlk3Vs1VE0

7.Under what condition will the demand curve be parallel to

Y-axis ?

o View Text Solution

8. What will be the shape of demand curve for a commodity
whose expenditure rises due to increase in price when its

pirce elasticity is zero ?

o View Text Solution

9.when is the demand of a commondity said to be inelastic ?
OR

Give the meaning of 'inelastic demand'.

| o Ve mnar ok Ol ikt


https://dl.doubtnut.com/l/_zu1X0h6FknSj
https://dl.doubtnut.com/l/_txO6PuopaP5N
https://dl.doubtnut.com/l/_NsITkTqCSmLX
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10. what is meant by unitary elastic demand ?

° View Text Solution

11. If price elasticity of demand for a product is equal to one,

what will be the nature of its demand curve ?

o View Text Solution

12. What is meant by highly elastic demand ?

o Watch Video Solution



https://dl.doubtnut.com/l/_NsITkTqCSmLX
https://dl.doubtnut.com/l/_NEa1shT9JgXj
https://dl.doubtnut.com/l/_avZX7N6OGFSo
https://dl.doubtnut.com/l/_86O9gf6L8prj

13. State 3 factors which affect price elasticity of demand.

o View Text Solution

14. How does the availability of close subtitutes is more

elastic of demand for a product ?

o View Text Solution

15. How is price elastictity of demand affected by the nature

of the commodity ?

° View Text Solution



https://dl.doubtnut.com/l/_C78TykXRFXcz
https://dl.doubtnut.com/l/_IFhRjveFCtVY
https://dl.doubtnut.com/l/_rDE6StYXc4Tx

16. If two demand curves intersect, then the flatter curve is

more elastic.

o View Text Solution

17. why is demand for water inelastic ?

o View Text Solution

18. when is the demand for a good said to be perfectly

inelastic ?

o View Text Solution



https://dl.doubtnut.com/l/_zUQnTYwYJxwC
https://dl.doubtnut.com/l/_N0nSRvj5vZOs
https://dl.doubtnut.com/l/_J1YZwxQck2CF

19. A perfectly elastic price-demand curve is parallel to the X-

axis. Why or why not ?

o View Text Solution

20. Arrange the following coefficients of price elasticity of

demand in ascending order: -0.7,-0.3, -1-1,-0.8.

° View Text Solution

21. Give the formula which provides relationship between

elasticity of demand and slope fo demand curve.

o View Text Solution



https://dl.doubtnut.com/l/_KY9CtZmQ2V3Z
https://dl.doubtnut.com/l/_UA2eeEoNc9so
https://dl.doubtnut.com/l/_4gLEwuWuCcUv

Short Answer

1. What is meant by price elasticity of demand ? Explain any 2

factors that affect it.

° View Text Solution

2. Discuss the percentage method for calculating price

ealsticity of demand.

° View Text Solution

3. Draw three demand curves in which price ealsticity of

demand remains same at all points.

o Watch Video Solution



https://dl.doubtnut.com/l/_qyECESQ3E4pd
https://dl.doubtnut.com/l/_Ulpbne2kjdNh
https://dl.doubtnut.com/l/_3N5vnnilTyTX

4. Distinguish bewtween perfect demand and perfectly

inelastic demand. Draw diagrams also.

o Watch Video Solution

5. Define unitary elastic demand and draw a demand curve
for it. What is the significance of a unitary elastic demand

curve ?

° Watch Video Solution

6. Mention any three factors that affect the price elasticity of

demand for a commodity.

.Y


https://dl.doubtnut.com/l/_3N5vnnilTyTX
https://dl.doubtnut.com/l/_SybUXARtgdwJ
https://dl.doubtnut.com/l/_WH24LOqEpDmv
https://dl.doubtnut.com/l/_RDXeNGZtylOm

l o VIEW [EXT >olution ]

7. How is the price elasticity of demand fo a commondity

affected by the number of its substitutes ? Explain.

° View Text Solution

8. How does the nature of a commodity influence its price

elastictiy of demand ?

o View Text Solution

9. When two dmeand curves intersect each other , which one

is more elastic ?

o View Text Solution



https://dl.doubtnut.com/l/_RDXeNGZtylOm
https://dl.doubtnut.com/l/_JVxWQt7hCiTq
https://dl.doubtnut.com/l/_KIoYkICBl1Ns
https://dl.doubtnut.com/l/_BzfksAjKKAKx

10. How is price elasticity of demand affected by: (i) Number

of substitutes available for the good, (ii) Nature of the good.

° View Text Solution

1. Explain the influence of following on price elasticity of
demand of a good: (i) Substitute goods, (ii) Own price of the

good.

o View Text Solution



https://dl.doubtnut.com/l/_BzfksAjKKAKx
https://dl.doubtnut.com/l/_lphM5axv2smT
https://dl.doubtnut.com/l/_v9UWPZgNEkN7

1. Explain the percentage method of determining of demand

with the help of an example.

o View Text Solution

2. Explain in brief, the following kinds of price elasticities of
demand: (i) Highly elastic demand, (ii) Less Elastic Demand,

(iii) Unitary elastic demand.

° View Text Solution

3. Discuss various factors that affect price elasticity of

demand .

° View Text Solution



https://dl.doubtnut.com/l/_WOpOe3ugGFUs
https://dl.doubtnut.com/l/_UtJ6D37iQl2g
https://dl.doubtnut.com/l/_BhPYYRJILth9

4. Explain the significance of elasticity of demand.

o View Text Solution

Unsolved Practicals

1. The quantity demanded increases from 100 units to 200

units when the price decreases from 12 to ¥ 10. Calculate the

elasticity of deamand.

o Watch Video Solution

2. As price of a commodity increases from ¥ 4 per unit to¥ 5

per unit, demand falls from 20 units to 10 units. Find out the


https://dl.doubtnut.com/l/_CNnxdaOtTfjB
https://dl.doubtnut.com/l/_RBmsPy6rL3mt
https://dl.doubtnut.com/l/_gm7iETJJYA4o

elasticity of demand.

° Watch Video Solution

3. The prices and quantites demanded of a commodity are
given below. On this basis, find out the price elasticity of

demand.

Price(Rs.) 10 20
Demand(units) 20 15

° Watch Video Solution

4. Price of a good falls from ¥ 10 to ¥8. As a result, its demand
rises from 80 units to 100 units. What is the price elasticity of

demand ?

o Watch Video Solution



https://dl.doubtnut.com/l/_gm7iETJJYA4o
https://dl.doubtnut.com/l/_pAccDV8PTShC
https://dl.doubtnut.com/l/_QB13H5YbrvhF

5. Demand increases by 10 units when the price decreases by
T2. As a result, deamand increases to 100 units and price

decreases to ¥8 . Find out the price elasticity of demand .

o Watch Video Solution

6. Following is the market demand scheldule of commodity X.
Calculate the coefficient of price elasticity of demand, when

price increases from ¥ 3 per unit to ¥5 per unit.

Price(Rs.) 7 6 5 4 3 2 1
Demand(units) 500 750 1.250 2.000 3.250 4.750 8.000

° Watch Video Solution



https://dl.doubtnut.com/l/_QB13H5YbrvhF
https://dl.doubtnut.com/l/_6nJW5QtRCisu
https://dl.doubtnut.com/l/_lWF34xeVB8Le

7. Suppose that originally, a product was being sold at ¥ 10
per unit and the quantity demanded was 1,000 units. The
product price changes to ¥14 and, as a result, the quantity
demanded changes to 500 units. Calculate the price ealstictiy

of demand.

° Watch Video Solution

8. A consumer purchased 10 units of a commodity when its
price was ¥ 5 per unit. He purchased 12 units of the
commodity when its price fell to ¥ 4 per unit. What is the

price elasticity of demand for the commodity ?

o Watch Video Solution



https://dl.doubtnut.com/l/_N4ZABNcemcMi
https://dl.doubtnut.com/l/_YeiZOGamRKYa

9. following are the demand schedules for commodities A

and B . Which one of them has more elastic demand ?

o Commadity A Commodity 8 |
;Pnce‘(?) ‘iwggan‘tity demanded (units) Price (%) g Quantity demanded (units) }
Lo ; B BTN IR l
L | s ] 18 | R

o Watch Video Solution

10. following is the demand schedule of commodity Y:
Calculate the elasticity of demand when (i) price rises from ¥

15 to ¥ 20, (ii) when price falls from¥ 20to ¥ 15.

| Price () 15 16 17 | 20 |
| Demand (units) | 100 80 50 | 40 |

o Watch Video Solution



https://dl.doubtnut.com/l/_wngsGttzaG5i
https://dl.doubtnut.com/l/_rcX0wmE7S80y

1. The coefficient of price elasticity of demand for a
commodity is 0.2. when price was ¥ 10 per unit. The quantity
demanded was 40 units. If the price falls to ¥ 5 per unit, how

much will be its quantity demanded ?

° Watch Video Solution

12. Market dmand for good at price ¥ 10 per unit is 100 units.
When its price changes, its market demand falls to 50 units.

Find out the new price, if the price elasticity of demand is (-)2.

o Watch Video Solution

13. A consumer buys 160 units of a good a t a price of ¥ 8 per

unit. Price falls to ¥ 6 per unit. How much quantity will the


https://dl.doubtnut.com/l/_9spCKykbP3sP
https://dl.doubtnut.com/l/_6YufLCC8hnup
https://dl.doubtnut.com/l/_pPvlCKG5s2PJ

consumer buy at the new price, it price elasticity of demand

is(-)27?

° Watch Video Solution

14. A consumer buys 200 units of a good at a price of 5 per
unit. With change in price, he buys only 100 units. If price

elasticity is (-) 1, find out the changed price.

° Watch Video Solution

15. price of a commodity decreases from ¥ 10 to ¥ 5 per unit.
If the price elasticity of demand is 3 and the original quantity

demanded is 40 units. Calculate the new quantity demanded.

° Watch Video Solution



https://dl.doubtnut.com/l/_pPvlCKG5s2PJ
https://dl.doubtnut.com/l/_vsqQlWRSGCrT
https://dl.doubtnut.com/l/_H9e1DXUgbDXk

16. The elasticity of demand for sait is zero. If the demand is 2
kg at the price of ¥ 5 per kg. calculate the deamand if the

price rises to ¥ 7.50 per kg ?

° Watch Video Solution

17. Price ealsticity of demand for a commodity is unity and a
household demands 50 units of it when its price is ¥ 2 per
unit. At what price will the household demands 45 units of

the commodity ?

° Watch Video Solution



https://dl.doubtnut.com/l/_H9e1DXUgbDXk
https://dl.doubtnut.com/l/_KUOl64NR9X8F
https://dl.doubtnut.com/l/_xx32e9qupNYB

18. The quantity demanded of a commodity falls by 5 units
when price rises by ¥ 1 per units. Its price elasticity of
demand is (-) 1.5. calculate the price before change if it this

price quantity demanded was 60 units.

° Watch Video Solution

19. What price of a commodity falls by ¥ 1 per unit , its
quantitfy demanded rises by 3 units. Its price elasticity of
demand is (-) 2. calculate its original quantity demanede if

the price before the change was ¥ 10 per units.

° Watch Video Solution



https://dl.doubtnut.com/l/_YtvsFRsBuU4j
https://dl.doubtnut.com/l/_8xEbLkcnlXhD

20. As price of a 5 per cent fall in the price of a good, its

demand rises by 12 % find out the price elasticity of demand.

° Watch Video Solution

21. A 3% fall in the price of X leads to a 9% rise in its demand.
A 5% rise in the price of Y leads to a 5% fall in its demand.
Calculate the price elasiticity of demand for X and Y. which

one is more elastic ?

° Watch Video Solution

22.A 5 % fall in the price of X leads to a 10% rise in demand
for X.A 2% rise in the price of Y leads to a 6 % fall in dmeand

for Y. calculate elasticity of demand of X and Y.


https://dl.doubtnut.com/l/_9OG9kH4NiEG0
https://dl.doubtnut.com/l/_sdFBjSOxpe2n
https://dl.doubtnut.com/l/_EIABgOguTiNC

° Watch Video Solution

23. As the price of a commodity falls from ¥ 8 and ¥ 6, its
demand rises from 100 units to 125 unts. Find out the price

ealsticity of demand by percentage method.

° Watch Video Solution

24. At a price of ¥ 20 per unit, the quantity demanded of
commodity is 300 units. If the price falls by 10% , its qunatity

demanded rises by 60 units. Calculate its price elasticity.

o Watch Video Solution



https://dl.doubtnut.com/l/_EIABgOguTiNC
https://dl.doubtnut.com/l/_IEJ9GLtq6h64
https://dl.doubtnut.com/l/_pXvI22R2eTym

25. As a result of 10% rise in the price of a good, its demand
falls from 100 unit to 90 units. Find out the price elasticity of

deamand.

° Watch Video Solution

26. A household increases its demand for a commodity from
40 units to 50 units when its price falls by 10%. What is the

price elasticity of demand of the commodity ?

° Watch Video Solution

27. As price of a commodity falls from ¥ 7 per kg to ¥ 5 per kg,
the total expenditure on it increases from ¥ 3,500 to ¥ 6, 250 .

Find out the elasticity fo demand .


https://dl.doubtnut.com/l/_Jcw9MKdQmB5g
https://dl.doubtnut.com/l/_ksTbFtbOxZHy
https://dl.doubtnut.com/l/_4QO6woT2BHRK

° Watch Video Solution

28. A consumer spend ¥ 80 on a commodity at a price of ¥ 1
per unit and ¥ 100 at a price of ¥ 2 per unit. What is the price

elasiticity of demand ?

° Watch Video Solution

29. Mr. Ram spent ¥ 200 on a commodity and bought 20 units
of it . When its price changed , he spent ¥ 300 and bought 15

units. Find out the elasticity of demand.

o Watch Video Solution



https://dl.doubtnut.com/l/_4QO6woT2BHRK
https://dl.doubtnut.com/l/_3h2yA0vHoPG1
https://dl.doubtnut.com/l/_KSaZ8Gd9qVlV

30. On the basis of information given below, compare price

elasticities of Goods A and B.

Good A : Good B |
Price per unit (3) ? Total Expenditure (%) Price per unit ) | Total Expenditure (%)
4 ' 20 3 15
5 15 4 4

° Watch Video Solution

31. The price elasticity of demand of good X si double the
price elasticity of demand of Good Y . A 10% rise in the price
of good Y results in fall in its demand by 60 units. If original
demand of commodity Y was 400, calculate percentage rise
in quantity demanded of good X when its when its price falls

from? 10 to ¥ 8 per unit.

° Watch Video Solution



https://dl.doubtnut.com/l/_P7kaR1EkCgSa
https://dl.doubtnut.com/l/_BYjqosZ9xhag
https://dl.doubtnut.com/l/_mwtGiyari7d0

32. A consumer buys a certain quantity of a good at a price of
¥ 10 per unit. When price falls to ¥ 8 per unit she buys 40%

more quantity. Calculate price elasticity of demand.

° Watch Video Solution

33. At a price of ¥ 5 per pen, the demand is 40 pens. The
elasticity of demand is 0.75 and increases in price is ¥ 1.

Calculate the change in quantity of pens demanded.

° Watch Video Solution

34. The price elasticity of demand of commodity X is 1/2 of
price elasticity of demand of commodity. When price of X falls

by 40% , its demand rises by 20 units. Calculate price


https://dl.doubtnut.com/l/_mwtGiyari7d0
https://dl.doubtnut.com/l/_6hKbGIVJXzh5
https://dl.doubtnut.com/l/_REEGJrNA1rwI

elasticity of demand of commodity X and Y, it originally 100

units of X were demanded at price of ¥ 5 per unit.

° Watch Video Solution

P
35. if 5 = 0.2 and price elasticity is (-) 2. calculate the

percentage fall in demand. Also calculate the original

expenditure if new expenditure is ¥ 180 at price of ¥ 6.

o View Text Solution

36. The dmeand function of good 'A' is given as:
Q4 = 40 — 5Py. Calculate its price elasticity when price rises

from¥ 4toT 6.

o Watch Video Solution



https://dl.doubtnut.com/l/_REEGJrNA1rwI
https://dl.doubtnut.com/l/_OU1nsydZH765
https://dl.doubtnut.com/l/_X4FcAUVQWvv3

37. The ratio of change in price (AP) to original price (P) is
04 and elasticity of demand is (-) 1.50 . Calculate the

percentage change in demand.

o Watch Video Solution

38. Price elasticity of demand for a product is unity. Its
demand is 25 units at a price of ¥ 5 per unit. If the price of
product rises to ¥ 6 per unit, how much quantity of the

product will be demanded ?

o Watch Video Solution



https://dl.doubtnut.com/l/_X4FcAUVQWvv3
https://dl.doubtnut.com/l/_z8fsedvK6bpK
https://dl.doubtnut.com/l/_eCwPyEQlGv5X

39. the price of a commondity is ¥ 12 per unit and its quantity
demanded is 500 units. When price rises by ¥ 3 per unit, its
quantity demanded falls by 150 units. Calculate its price

elasticity of demand. Is demand elastic ?

° Watch Video Solution

40. Commodities A and B have equal price elasticity of
demand . The demand of X rises from 100 units to 150 units
due to a 20 per cent fall in its price. Calculate the percentage

fall in demand of Y if its price rises by 8 per cent.

° Watch Video Solution



https://dl.doubtnut.com/l/_OeAV0bVTYq87
https://dl.doubtnut.com/l/_Yp5ahyL7wR1U

41.The price of a commodity is ¥ 10 per unit and its quantity
demanded at this price is 500 units. If its quantity demanded
rise by 75 units due to fall in price by 10 per cent, calculate its

price elasticity of demand.

o Watch Video Solution

42. Form the following data, calculate price elasticity of

demand.

9
9

o Watch Video Solution



https://dl.doubtnut.com/l/_gJwSf5Y4q074
https://dl.doubtnut.com/l/_SQzVyAv4ywIQ

43. When price of a good is ¥ 13 per unit the consumer buys
11 units of that good, when price rises to ¥ 15 per unit, the
consumer continues to buy 11 units. Calculate price elasticity

of demand.

° Watch Video Solution

44.The price elasticity of demand of a commodity is -0.5 . At a
price of ¥ 20 per unit, total expenditure on it is ¥ 2,000. its
price is reduced by 10 per cent. Calculate its demand at the

reduced rate.

° Watch Video Solution



https://dl.doubtnut.com/l/_3RSDiD8JHFJn
https://dl.doubtnut.com/l/_5MmWTOPOAASb

45, A consumer buys 20 units of a good at a price of ¥5 per
units. He incurs an expenditurs of ¥ 120 , when he buys 24
units. Calculate price elasticity of demand using the
percentage method. Comment upon the likely shape of

demand curve based on this information.

° Watch Video Solution

46. The price of commodity is ¥ 20 per unit and total
expenditure on it ¥ 1,000. when its price falls to ¥ 18 per unit,
total expenditure increases by 8 per cent. Calculate its price

elasticity of demand by percentage in its demand.

o Watch Video Solution



https://dl.doubtnut.com/l/_AntIG0Mgjgy0
https://dl.doubtnut.com/l/_rDO12UgYmpoJ

47.The price elasticity of demand of X is (-) 1.25. its price falls
from ¥ 10 to 8 per unit. Calculate percentrage change in its

demand.

o Watch Video Solution

48. The price elasticity of demand for a good is -0.4 if its price
increases by 5 percent, by what percentage will its demand

fall ? Calculate.

° Watch Video Solution

49. The demand for good rises by 20 percent as a result of
fall in its price elasticity of demand is (-) 0.8 . Calculate the

percentage fall in price.


https://dl.doubtnut.com/l/_Sd6njlwEUTaJ
https://dl.doubtnut.com/l/_BG7SjBwqJta4
https://dl.doubtnut.com/l/_E0hZi523JHKL

° Watch Video Solution

50. A 5 per cent fall in the price of a good raises its demand
from 300 units to 318 units. Calculate its price elasticity of

demand.

° Watch Video Solution

51. Price of a good rises from ¥ 7 per unit to ¥ 9 per unit but
its demand remains unchanged. Calculate price ealsticity of

demand.

o Watch Video Solution



https://dl.doubtnut.com/l/_E0hZi523JHKL
https://dl.doubtnut.com/l/_3fYHdpJ186jG
https://dl.doubtnut.com/l/_JUGcHsFImS1f

52. price elasticity of demand of a good is -0.75. calculate the
percentage fall in its price that will result in 15 per cent rise

in its demand.

° Watch Video Solution

53. Price of a good rises by per cent but there is no effect on
demand of the good due to this price rise. Calculate price

elasticity of demand.

° Watch Video Solution

54. A consumer spends ¥ 2,000 on a good priced at ¥ 8 per
unit. Wgeb oruce rises by 25% the consumer continues to

spend the same amount on the good. Calculate price


https://dl.doubtnut.com/l/_twEk6tDJNNTI
https://dl.doubtnut.com/l/_uXN5e3EKAgI8
https://dl.doubtnut.com/l/_IQZzm0RRbk7l

elasticity of demand by 25% the consumer continues to
spend the same amount on the good. calculate price

elasticity of demand by the percentage method.

° Watch Video Solution

55. A consumer buys 18 units of a good at a price of ¥ 9 per
unit. The price elasticity of demand for the good is (-)1. how
many units the consumer will buy at a price of ¥ 10 per unit ?

Calculate.

o Watch Video Solution

56. Price elasticity of demand of a good is (-) 1. when its price

per units falls by one rupes, it demand rises from 16 to 18


https://dl.doubtnut.com/l/_IQZzm0RRbk7l
https://dl.doubtnut.com/l/_B6WjS0mYsB2j
https://dl.doubtnut.com/l/_kdhD8AanRms9

units. Calculate the price before change.

° Watch Video Solution

57. A consumer buys 30 units of a good at a price of ¥ 10 per
unit. Price elasticity of demand for the good is (-) 1. How many

units the cosumer will by ata price of ¥ 9 per unit ? Calculate.

o Watch Video Solution

58. When price of a good falls from ¥ 15 per unit to ¥ 12 per
unit. Its demand rises by 25 percent. Calculate price elasticity

of demand.

° Watch Video Solution



https://dl.doubtnut.com/l/_kdhD8AanRms9
https://dl.doubtnut.com/l/_8HHwyvEscZMQ
https://dl.doubtnut.com/l/_omeBH1cXAtDe
https://dl.doubtnut.com/l/_QRZ1vUwt2qx1

59. Price elasticity of demand of a good is (-)1. calculate the
percentage change in price that will raise the demand from

20 units to 30 units.

o Watch Video Solution

60. Price elasticity of demand of two good A and B (-) 3 and
(-)4 erspectively. Which of the two goods has higher elasticity

and why ?

° Watch Video Solution

61. The quantity demanded of a good is 1,500 units at the

price of ¥ 10 per unit. Its price ealsticity of demand is (-) 1.5.


https://dl.doubtnut.com/l/_QRZ1vUwt2qx1
https://dl.doubtnut.com/l/_7dPAufryqJXZ
https://dl.doubtnut.com/l/_rFwE9Z6PveAU

calculate its quantity demanded, when its price falls to ¥ 8

per unit.

° Watch Video Solution

62. The price elasticity of demand of a good is (-) 0.5. At a
price fo ¥ 20 per unit its demand is 300 units. At what price

will its demand increase by 10 percent ?

° Watch Video Solution

63. A consumer spends ¥ 1,000 on a good piced at ¥ 8 per
unit. When price rises by 25 per cent, the consumer contines
to spend ¥ 1,000 on the good. Calculate price elasticity of

demand percentage method.

Y.


https://dl.doubtnut.com/l/_rFwE9Z6PveAU
https://dl.doubtnut.com/l/_ByonnkFSe0B8
https://dl.doubtnut.com/l/_o6w3aJPpN9ph

| ¥ Watch Video solution |

64. A consumer spends ¥ 60 on a good priced at ¥ 5 per unit.
When price falls by 20 per cent, the consumer continues to
spend ¥ 60 on the good. Calculate price elasticity of demand

by percentage method.

° Watch Video Solution

65. A cossumer spends ¥ 100 on good priced at ¥ 4 per unit.
When price falls by 50 per cent , the consumer continues to
spend ¥ 100 on the good. Calculate price elasticity of demand

by percentage method.

° Watch Video Solution



https://dl.doubtnut.com/l/_o6w3aJPpN9ph
https://dl.doubtnut.com/l/_ypW0Ss1AxVIB
https://dl.doubtnut.com/l/_RaV7zWbVbbqp
https://dl.doubtnut.com/l/_IWgChEfs9sQS

66. A cossumer spend ¥ 1,000 on a good priced at ¥ 10 per
unit. When price falls by 20 percent , the consumer spends ¥
800 on the good. Calculate the price elasticity of demand by

the percentage method.

o Watch Video Solution

67. Price elasticty of demand of good X is -2 and of good Y is

-3. which of the two goods is more price elastic and why ?

° Watch Video Solution

68. What will be the effect of 10 percent rise in price of a
good on its demand if price elasticity of demand is (a) zero ,

(b),-1© -2.



https://dl.doubtnut.com/l/_IWgChEfs9sQS
https://dl.doubtnut.com/l/_vyPOMd0fIEfp
https://dl.doubtnut.com/l/_DfBJwD2BMTYC

| o Watch Video Solution

69. Price elasticity of demand of a good X and Y are zero and

(-) 1 respectively. Which of the two is more elastic and why ?

° Watch Video Solution

70. Price of a commodity fall from ¥ 20 to ¥ 15 per unit. Its
demand rises from 600 units to 750 units. Calculate its price

elasticity of demand.

° Watch Video Solution

71. The demand curve for the commondity is given as

D, =10 + 2P . If slope of the demand curve is given to be


https://dl.doubtnut.com/l/_DfBJwD2BMTYC
https://dl.doubtnut.com/l/_FLU0HhAi70Xu
https://dl.doubtnut.com/l/_RqPehjc89PtV
https://dl.doubtnut.com/l/_4RxeZEhjHV9u

(-2), calculate price elaticity of demand for the commodity

when demand is 10 units.

° Watch Video Solution

72. The demand curve of a commodity is expressed as
D20 — 2P. If slope of the demand curve is given to be (-2).
Calculate price elasticity of demand for the commodity when

demand is 10 units.

o Watch Video Solution

73. Price of a commodity falls from ¥ 40 to ¥ 30 per unit.

Quantity demanded intially was 60 units. By how much the


https://dl.doubtnut.com/l/_4RxeZEhjHV9u
https://dl.doubtnut.com/l/_VgiGuW5oswAy
https://dl.doubtnut.com/l/_VrfwldkwLVPB

quantity will rise if elasticity of demand is established to be

unitary ?

° Watch Video Solution

74. When price of a commodity X falls by 10 per cent, its
demand rises from 150 units to 180 units. Calculate its price
elasticity of demand . How much should be the percentage

fall in its price so that its demand rises from 150 to 210 units.

° Watch Video Solution

75. When price of good rises form 4,10 to 4,12 per unit its
quantity demanded falls by 20%. Calculate its price elasticity

of demand. How much would be the percentage change in its


https://dl.doubtnut.com/l/_VrfwldkwLVPB
https://dl.doubtnut.com/l/_6DkcZ8fRwQ6G
https://dl.doubtnut.com/l/_XC7r370IIKW5

quantity demanded, if the price rises from 4,10 per units to

3,'13 per units ?

° Watch Video Solution

76. When the price of commodity A falls from %10 to ¥5 per
unit, its quantity demanded doubles. Calculate its elasticity
of demand. At what price will its quantity demanded fall by

50 percent ?

o Watch Video Solution

77. Due to 10 percent fall in the pirce of X , its demand rises
100 units to 120 units. How much percentage will its demand

fall due to 10 percent rise in its price ?

Y.


https://dl.doubtnut.com/l/_XC7r370IIKW5
https://dl.doubtnut.com/l/_YFpNprMQCXAU
https://dl.doubtnut.com/l/_YlhkHA4eV6bt

| ¥ Watch Video solution |

78. When price of a good falls by 50 percent, its demand rises

by 60 percent . Calculate its price ealsticity of demand.

o Watch Video Solution

79. When price of a good falls from ¥ 10 per unit to ¥ 7 per
unit, quantity demanded of the good rises from 100 to 160

units. Calculate its elasticity of demand.

o Watch Video Solution



https://dl.doubtnut.com/l/_YlhkHA4eV6bt
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